
Installation and operation instruction

● Figure 3

● Figure 1

Guarantee & Aftercare

When installing or using tools, extra care must be taken to avoid damaging the 

finish or fitting. To maintain the appearance, please ensure it is cleaned regularly 

using a clean soft damp cloth only. Abrasive cleaners or detergents must not be 

used as they may cause surface deterioration. The company provides a guarantee 

against faulty material or manufacture excluding serviceable parts, providing they 

have been installed, cared for and used in accordance with our instructions.

150

80-120

安装孔

瓷砖面要与塑料外壳面相平
或高出塑料外壳

固定板

瓷砖面

预埋件底部与瓷砖面的距离

砂将层

用户自备

浴缸

2PCS

G1/2进水

弯头

4PCS

混泥土层

冷水管

HOT

COLD

热水管

1 ,安装前要冲洗冷,热水管道,防止泥砂堵塞产品,或造成产品

   的滴漏或出水量小.

2,安图1所示,在毛地面挖一个安装固定水管槽和固定阀体平面.

3, 以预装阀体四个安装孔为标记,用Φ8的钻头打4个深度为50的孔

4,如图2,分别把4只SS21澎涨钉敲到地面上,然后装上预装阀体.
5, 如图片3所示,分别把冷,热进水管连接到1号预装阀体上,调整好
  位置和方向好后,用扳手拧紧2号SS21澎涨钉螺帽(要注意预装阀体
  的水平度).
6,打开冷,热供水阀,检查连接处是否有滴漏.

3

1

Ss201澎涨钉
22

22

注意长牙端与阀体
连接

Ss304进水阀体

53-70mm

预埋阀体

预埋件不能高于瓷砖面

预埋件地下安装
结构示意图

HOT COLD

进水管

4PCS

预埋阀体

● Figure 2

G1/2

G1/2

水平仪

1

Installation and operation instruction

● Figure 3

● Figure 1

Guarantee & Aftercare

When installing or using tools, extra care must be taken to avoid damaging the 

finish or fitting. To maintain the appearance, please ensure it is cleaned regularly 

using a clean soft damp cloth only. Abrasive cleaners or detergents must not be 

used as they may cause surface deterioration. The company provides a guarantee 

against faulty material or manufacture excluding serviceable parts, providing they 

have been installed, cared for and used in accordance with our instructions.

80-120

HOT

COLD

1 ,安装前要冲洗冷,热水管道,防止泥砂堵塞产品,或造成产品

   的滴漏或出水量小.

2,安图1所示,在毛地面挖一个安装固定水管槽和固定阀体平面.

3, 以预装阀体四个安装孔为标记,用Φ8的钻头打4个深度为50的孔

4,如图2,分别把4只SS21澎涨钉敲到地面上,然后装上预装阀体.
5, 如图片3所示,分别把冷,热进水管连接到1号预装阀体上,调整好
  位置和方向好后,用扳手拧紧2号SS21澎涨钉螺帽(要注意预装阀体
  的水平度).
6,打开冷,热供水阀,检查连接处是否有滴漏.

1

SS201 Screw
22

53-70mm

HOT COLD

4PCS

● Figure 2

G1/2

G1/2

Gradienter

1

1. Prior to install please ensure all the supply pipes have been rinsed 

    to remove any debris, avoid cartridge damage and blockage.

2. As is shown in the Fig.1,drill a hole and tube seat on the sub floor.

3. Drill 4 holes with diameter φ8mm and 50mm depth.

4. As is shown in the Fig.2, knock SS201 Screws into the holes, and 

    tighten fit embedded box.

5. As is shown in the Fig.3, connect clod and hot pipe to embedded box, 

    adjust direction and location, then use Allan key to screw tighten it.

6. Turn on cold and hot water supply, check if any leakage on 

    connection part.

INSTALLATION PROCEDURE

Mortar Layer
Sub 
Floor

The Tile

The embedded box should be  
 lower than the tile

Distance of bottom of 
embedded box and tile

Bath

Embedded BoxInlet Pipe

Inlet Pipe

Embedded Box



固定板

Max:180mm

瓷砖面要与预装阀体

相平或高出20mm内

● Figure 7

● Figure 4

S4  Allen Key

M5  screw

2 PCS

塑料堵头

4 PCS

5

水平仪

预埋阀体

8,用S4六角扳手拆下4只M5螺丝，
   取出5,6,7三个配件。

连接管

1

3

6

水平仪

44

13

预埋阀体 1

● Figure 5

● Figure 6
7，装饰地面（贴瓷砖）。

9，打开冷,热供水阀,冲掉管道中的泥砂。

10，把10号螺帽从8号连接管上拆下,然后套上9

    号法兰,最后又旋上10号螺帽.
11, 把11号固定板装到8号连接管上(要拧紧),
12, 拔掉2只13号保护外套.

7

8

φ200 
Flange

9

内牙固定板

六角螺帽

保护外套

进水管

10

11

12

2PCS

2PCS

Max:180mm

● Figure 7

● Figure 4

S4  Allen Key

M5  screw

2 PCS

4 PCS

5

1

3

6

44

13

1

● Figure 5

● Figure 6

7

8

φ200 
Flange

9

10

11

12

2PCS

2PCS

7. Decorate the sub floor (Tile Fixing).

8. Use Allen Key S4 to screw off 4xM5 screws, 
and take out Part5,6,7.

9. Turn on cold and hot water supply, rinse 

the pipes (Note: the pipe not supply with 

product, customer should buy by himself)  

10, Screw off Nut 10, let the pipe go through 

       Flange 9, then screw back Nut 10.

11. Screw tighten Fixing Part 11.

12. Pull out 2*protect Sleeve 13.

The tile is fit flush with Embedded 
Box or higher less than 20mm

Embedded Box

Fixing Plate

Plastic Plug

Embedded Box

Nut

Fixing Part

Inlet Pipe

Protective Sleeve

Gradienter

Gradienter

φ50 Pipe

Water outlet



HOT

COLD

φ50 连接管

φ200 Flange

六角螺母

14,双手握紧产品,然后分别把12两个冷,热水进水
  接头插入到已预装好进水阀体两个出水孔中(要
  注意冷,热水方向 ).

15,如图9所示,分别把4只M5螺丝装到预装阀体四个螺孔
   中,接着用S4六角扳手拧紧.
16, 调整连接管的位置和方向后,用扳手拧紧10号六角
    螺母,最后把9法兰放到地面上。

● Figure 9

8

9

10

● Figure 8

S4  Allen Key 3

M5  screw 4 4 PCS

φ200 Flange

固定板

14

内牙固定板

5

M6  screw
4 PCS

44

M5  screw

4 PCS

进水管
122PCS

11

S4  Allen Key

3

13,如图8所示，用4只M6螺丝把5号固定板固定在11号内牙固定板上
   （要用 S4六角扳手拧紧）。

9

HOT

COLD

φ50 Pipe

φ200 Flange

● Figure 9

8

9

10

● Figure 8

S4  Allen Key 3

M5  screw 4 4 PCS

φ200 Flange
14

5

M6  screw
4 PCS

44

M5  screw

4 PCS

122PCS

11

S4  Allen Key

3

9

13.  As is shown in the Fig.8, use Allen Key S4 screw tighten M6 Screw 14

       to fix Fixing Part 11.

14.  Insert cold and hot inlet pipes 12 into outlet holes of the embedded 

        box(Note make sure cold and hot pipe connect to correct outlet hole) .

15 . As is shown in the Fig.9, use Allen Key S4 to screw tighten 4* M5 

       screws.

16 . Use wrench to tighten Nut 10, then put Flange 9 on the floor.

Fixing Plate

Fixing Part

Nut

Inlet Pipe



Shower  hose

塑料扳手

Plastic washer

21

15

17

2 PcsRubber washer

Hand shower Round screw nut

Tap body

16

When water pressure lower than 0.7
bar, no water out from hand shower,
pull out and twist the knob to lock it
in positon. After shower, twist the
knob, then it will reset automatically.

Knob

Outlet pipe

18

19

20

17,在包装盒中取出16号出水弯管，然后把它插入到19号龙头体中

  （注意要有2只18号塑料垫圈），最后用17号圆螺帽固定好出水弯管。
18，把21号花洒软管，一端与龙头体出水接头连接，另外一端与20号
   手握花洒连接。
19，检查各处连接是否牢固和滴漏等缺陷，安装合格后再交付使用。

● Figure 11

产品的维护与使用：
1，当使用一段时间后发现出水量变小，可以用15塑料扳手拆下出水弯
 管中的起泡器用清水进行清洗,然后装上干净的起泡器.
2, 如发现手柄有晃动,可以按图片11进行维护:

● Figure 10

S2.5  Allen Key

Handle spimdle

M5  screw

Handle

先用手拆下手柄杆,然后用S2.5的扳手拧紧手柄中M5螺丝,最后
装上手柄杆.

Shower  hose

Plastic Ring 

21

15

17

2 PcsRubber washer

Hand shower Round screw nut

Tap body

16

When water pressure lower than 0.7
bar, no water out from hand shower,
pull out and twist the knob to lock it
in positon. After shower, twist the
knob, then it will reset automatically.

Knob

Outlet pipe

18

19

20

● Figure 11

● Figure 10

S2.5  Allen Key

Handle Spindle

M5  screw

Handle

17.  Insert Spout Pipe 16 to Tap Body 19, ensure 2*plastic rings are 

       assembled, then screw on Screw Nut 17.

18.  Connect Shower Hose 21 to hand set and bracket.

19.  Turn on water supply and check if any leakage.

Maintenance

1.When using for some time, the flow rate of water is smaller, use 

    Aerator Tool 15 to screw off aerator and rinse it.

2.If the handle is wonky, please tighten it as below Fig.11 shows:

   Screw off handle spindle by hand, use Allen Key S2.5 to tighten 

   screw M5.

Aerator Tool

If the product is not supplied with balanced pressure, the mixer will notfunction properly. 

Non-return valves should be fitted on both the hot and cold feeds as close to the tap as

possible (non-return valves not provided).

All products must comply with regulations of Local Water Authority as contained 
in their by-laws.


	页 1
	页 2
	页 3
	页 4

